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Time :- 3 Hours 15 minutes sfia fag= (o) Full Mark - 70
T : 3 He 15 fAe quries — 70

Total No. of questions—70+ 20+ 6 =96
G UL DI HHT — 70 + 20 + 6 = 96

qhEn¥al & fery (A3 -

Instructions for the candidates :

1. Rleefi OMR STR—UF® WR 3T Ue GRADBT HHidb (10 3fhl PI) aed
fored |
Candidate must enter his/her Question Booklet Serial No. (10
digits) in the OMR Answer Sheet.

2. oRIefT JATHIE 370+ Tl H & IR S |
Candidates are required to give their answers in their own words as
far as practicable.

3. <R el TRE W RY gy sie wie MRk o §
Figures in the right hand margin indicate full marks.

4. gedl Bl AMYdDd Ygd B foly Wit &I 15 e &1 aifdRed w91

foar a2



15 minutes of extra time have been allotted for the candidates to

read the questions carefully.

Tg U YRABT a1 gus] H 5— WUS—3I U9 WUs—d

This question booklet is divided into two sections- Section-A and
Section-B.

Gus—3 H 70 TGS YT &, H 9 Bl 35 Ul b1 SR <Al
AR 21 35 UTAl W AP BT IR o W YUH 35 BT B Hedlb

BN | U Ued & v 1 3fe fAuifRa 81 591 SR 9 @ fod Sucter

R T OMR STR-T3% § I T 8l fdbe &1 el /Pret dfcl Ud

H W B | & Wl IR & Tarse R /TR U /&=fs /ARG 37

B OMR STR—U=d H WANT HNAT 4T 8, 3=JAT UNiel IR 3=
BT |

In Section-A, there are 70 objective type questions, out of which
any 35 questions are to be answered. If more than 35 questions
are answered, then only first 35 will be evaluated. Each question
carries 1 mark. For answering these darken the circle with
blue/black ball pen against the correct option on OMR Answer-
sheet provided to you. Do not use whitener/liquid/blade/nail etc. on

OMR Answer-sheet, otherwise the result will be treated invalid.

Gus—g H 20 AGITT U B YD U & forg 2 3 FeEiRd g,

79 9 =8l 10 U39 &1 SR <A1 A B | 396 IfaRed o0 Wvs #



06 3TH ST U AT ¥ T €| u¥d @ foru 05 o fuiRa € R
I f5=g 3 oAl & IR <7 S1fard 2|

In Section-B, there are 20 Short answer type questions. Each
carrying 2 marks, out of which any 10 questions are to be
answered. Apart from these, there are 6 Long answer type
questions, each carrying 5 marks, out of which any 3 questions are
to be answered.

8. Pl TR & Saci=d ISRV & JIANT goiaar afsid g |

Use of any electronic appliances is strictly prohibited.

gvs—31 /SECTION -A

(@gf<ss 934d) /Objective Type Questions

U AT 1 W 70 9P B YD YT b IO IR fdpey o ¥ & 9w 9

U WEl ©| 30 ERT g9 T ¥el fdded ® OMR e wR fAafzd & | &=l 35
gl B IR S | 35x1=35
Question Nos.- 1 to 70 have four options, out of which only one is
correct. You have to mark your selected option on the OMR-Sheet. Answer
any 35 questions. 35x1 =35
1. f=faRad | 9 fow di & il 9 sfuRent=ie dferay fasfad sl & ?
(A) 3R (B) @a
(C) sreforan (D) sifthera
In which of the following plants adventitious buds develop from leaves?
(A) Ginger (B) Banana

(C) Dahlia (D) Bryophyllum



frforRaa & A foa Al # IR fowree, gwve @ iy § =21 grar 272
(A) Srgfore Sira (B) ferfora si

(C) g™ (D) ferish

In which of the following organism meiosis does not occur during
gamete formation ?

(A) Haploid organism (B) Diploid organism

(C) Human (D) Chimpanzee

fereiferRad # @i oA B & ?

(A) F=e & ggarq @ivs @9 ¥ g 81 € |

(B) g9 wd vell vest (3NdiRa) € |

(C) Bt 39 folmsrll Bt 2 |

(D) BTsST H gHad a4 & |

Which of the following statements is incorrect ?

(A) Ovules develop into seeds after fertilization

(B) Reptiles and birds are oviparous

(C) Earthworm is monoecious

(D) Gemmule formation occurs in Hydra

Hrell e @ 99 # Jaftne IuRed JISvs®h™ & T HEd & °
(A) TreTaTTeaH (B) ¥y

(C) WIST 471 s (D) wRsgoTdr

In seeds of pepper, remnant of nucellus persists, which is called as --.




(A) Chalazosperm (B) Endosperm

(C) Pseudo embryo sac (D) Perisperm
P @ gearq e @ R e RieRd 8 2 ?
(A) Tdierd (B) ot

(C) wSftepTd (D) ety

After fertilization, wall of ovary develops into which structure ?
(A) Epicarp (B) Seed

(C) Mesocarp (D) Pericarp

gfe ST a1 fFEior {997 e & 8T § a1 §9 1 bed © 0

(A) TIHIRIT (FTST) (B) TSI
(C) arfuepife wel ) EIRESES]
If production of seeds occurs without fertilization, it is called as ---- .
(A) Amphimixis (B) Apomixis

(C) Parthenocarpy (D) Parthenogenesis
URTT U7 SATeH & ®Y ¥ 318 | WX v8d & wiifh

(A) IRIT o H ARy 8
(B) ffRT # WRIMI== &7 917 ot 8

(C) fafT % UaeT Acgalrel &1 i ard ®
(D) fafr # Agers 2 |

Pollen grains are well preserved as fossils because ---.

(A) Pollen grain has a wall



10.

(B) Wall has exine of sporopollenin

(C) Wall has intine of pectocellulose

(D) Wall has cellulose

RrefiRed § B PIRIGT ST T R ?

(A) TEPTOTST BIHRTEHT (B) gIgd
(C) fg<frra gpeho] difrest (D) geh1g
Which of the following cells is not haploid ?

(A) Spermatogonia (B) Spermatid

(C) Secondary spermatocyte (D) Spermatozoon

f=ferRad & & 9 MHeIeuT RefiSiT g™ &1 gdor orar g ?

(A) srosTera (B) guor

(C) uza Yy Ufey ()EEEERED

Which of the following secretes gonadotropin releasing hormone ?
(A) Ovary (B) Testis

(C) Posterior pituitary gland (D) Hypothalamus

fr=forRaa & & 9w fhar @ gvarq Jvecds! g dr © ?

(A) GNRH & HdUT & U¥aTq (B) wiedad Ay
(C) Ul w= &Sl (D) UIoRCRE & FAU & UgElq
Ovulation occurs after which of the following process ?

(A) After secretion of GnRH (B) Feedback inhibition

(C) LH surge (D) After secretion of progesterone



11.

12.

13.

AEFA: T DI Uged! Tfaeierdl, T9ERel © fba 718 § o8l il 8 ?

(A) =T (B) =t

(C) dieran (D) &t

Normally the first movement of foetus is observed in which month of
pregnancy ?

(A) Third (B) Fourth

(C) Fifth (D) Second

TNl gRT W dR WR T4iaeel e & fog Feafalaa 4 9 foa alier &1
TN BIT © 7

(A) e (B) <ggaer

(C) g==aTahro (D) fafecdra miar |FHI=

Which of the following methods is used to prevent pregnancy
permanently in male ?

(A) Vasectomy

(B) Tubectomy

(C) Sterilisation

(D) Medical termination of pregnancy

FrfeiRad # @ @19 9 FarRa 9T goidar SuaR Ay § ?

(A) guctsfew — B (B) Tew

(C) SiTgee wRftw (D) faftheia



14.

15.

16.

Which of the following sexually transmitted diseases is completely

curable ?
(A) Hepatitis - B (B) AIDS
(C) Genital Herpes (D) Syphilis

TS AT YRS YT & Bl AfeTdrail # RIFIaReT & F97 FHEd & 7
(A) 38 T T% (B) 3
(C) Sl arg U% & (D) arrs g <&

Transfer of either zygote or early embryo to fallopian tube is called

as..........
(A) IVF (B)ET
(C) ZIFT (D) IUT

Hed §RT WUIGd Udbel Wb I Bl Fyp SIHICIST U HRIT & 7

(A)3 : 1 B)1:2:1

(C)9:3:3:1 (D)1 :1

Which one is Genotypic ratio of F, generation of monohybrid cross
conducted by Mendel ?

(A)3: 1 B)1:2:1

(C)o9:3:3:1 (D)1 : 1

ON ON (N

FfeRad 9 &I B e fhe=gRar @ IR 4 3\ © 7

(A) TSI SUTT=R Ffe

(B) 1T hIHNAH IUHTdT TeToT



17.

18.

(C) fhTSel Ul Ud fhATSel Urgwde &l 3od il

(D) f%ATSet UelsiF Ua fhATgel UrgRede &1 gadh gRT IcAfoid el Bl
Which of following statements is incorrect about phenylketonuria ?
(A) Inborn error of metabolism

(B) Autosomal recessive trait

(C) High level of phenylalanine and phenylpyruvate

(D) Phenylalanine and phenylpyrurate are not excreted by kidney.

Hedl & SFAR, Bly T AURGId ©T § Sd A FA DI JHBI & AEIH
A SRR Yifedl # SuariRd gl 8 foy S=iF &1 wel ?

(A) PRSP (B) S

(C) ettt (D) Rt

According to Mendel, something is stably passed down unchanged

from parent to offspring through the gametes, which was referred as -

(A) Factor (B) Gene
(C) Allele (D) Cistron

freferRad # &1 fad XO — R yeR &1 fofir FeiRor fiar fafyr gram & 2
(A) fegsr (B) weperet

(C) g™ (D) ueh

In which of the following XO — Male type of sex determination is
observed ?

(A) Grasshopper (B) Honey bee



19.

20.

21.

(C) Human (D) Birds
T U & Ufegfaeriiess siaeell &l MR fhast a7 81T © ?
(A) THT-PTEHT—ER (B) WrREhe—&IR

(C) ITHT—H DT (D) &R J™®DI BT &R (Fh)

Backbone of polynucleotide chains of DNA is composed of which of the

following ?
(A) Sugar-phosphate-base (B) Phosphate-base
(C) Sugar-phosphate (D) Stack of paired bases

Aod Sl (a1 Ragid) &1 =T gfauriea fear ?

(A) area (B) fv@

(C) faafe= (D) 3R Haferd

Who propounded Central Dogma ?

(A) Watson (B) Crick

(C) Wilkins (D) R. Franklin

I # IURT U & aR H F=falad § | B9 A1 BoF W T8
g7

(A) 79 %€ (Non-histone) (B) faxe=

(C) &mar 9T (D) e SR T

Which of the following statements, is not true about protein present in

nucleosome ?

(A) Non-histone (B) Histone

10



22.

23.

(C) Basic protein (D) Positively charged protein
wUIdRd FHGId @1 Siig I[ifd el @ udl fbds gRT Simm T3y ?

(A) frmrer (B) @R+ UG TIeH

(C) Tadl, Hpfersile Td Hapabrel (D) &4l wd g

Biochemical nature of transforming principle, was determined by
(A) Griffith

(B) Lederberg and Tatum

(C) Avery, Mac Leod and Mc Carty

(D) Hershey and Chase

ffeiRad ®eei # IR U7 U & IR # Tod $HYH S & ?

(A) 3R TF U (& Ulelgfderdiciss SiEell &1 941 Bidl o

(B) 3R T U H AT 2
(C)3R T U, &1 w7 1 (TMV) # amgafiie uaref 2|

(D) 3R UA ¥ & U Jfdardieigs H 2'OH g &1 IuRfd 3R U4 U &l
IR <1 2|

Which of the following statements about RNA is incorrect ?

(A) RNA has one polynucleotide strand

(B) Uracil present in RNA

(C) RNA is genetic material in TMV.

(D) Presence of 2°OH in every nucleotide of RNA imparts stability to

RNA

11



24, ¥ UA U Ufdafd d Teb oISl BT Faq—Ufdalid Bl & e Wusi bl B
Sifedr & ?
(A) 21 T T RS (B) ¥ U7 § &8I
(C) wrgaat (D) 3R TF T dfeive
One of strands of DNA is discontinuously replicated and these
fragments are joined by which of the following ?
(A) DNA polymerase (B) DNA ligase
(C) Primase (D) RNA polymerase
25. R UF T el Il fraa deevyor & foy Sorerh 72 8 ?
(A) hn RNA ([esiift ®gadir 3R U9 1)
(B) t RNA (3fcRoT 3R T4 1)
(C) 5 sr RNA (5 79 3N 3R U T)
(D) sn RNA (T T 3R TF 1)

RNA polymerase lll is not responsible for synthesis of which of the

following ?
(A) hn RNA (B) t RNA
(C) 5 sr RNA (D) sn RNA

26. THAGNI YIS oid SITURTE H dHaf dear g ?
(A) TaTAD T (B) S=T1aa
(C) RaTHD Sid (D) fFrame i

In Lac operon where does repressor protein bind ?

12



(A) Operator (B) Promoter
(C) Structural gene (D) Regulator gene
27. WO AReAN {6y UeR &1 e faardh € 2
(A) JTERT (B) 1faar
(C) FHHIR (D) |Areced
Homologous structures show what type of evolution ?
(A) Divergent (B) Convergent
(C) Parallel (D) Saltatory
28. f=feRad 4 9 &9 Afise H sreliet smgfcral | uRads ofrm & ?

(A) SR (B) S gare

(C) SmgaRre fazrer (D) Sogaa T

Which of the following causes change in allele frequency in a
population ?

(A) Mutation (B) Gene flow

(C) Genetic drift (D) All of the above

29. fy=faRad @ 9 &9 URM® uge & ?
(A) AUG (B) UUU
(C) UAG (D) UGA
Which of the following is an initiation codon ?
(A) AUG (B) UUU

(C) UAG (D) UGA

13



30.

31.

32.

33.

fF=feiaa 5 9 I SR Siary] gRT 8lar © 2

(A) TTEPITS (B) #eiRRar

(C) BRMT (D) a1

Which of the following diseases is caused by bacteria ?
(A) Typhoid (B) Malaria

(C) Corona (D) Ringworms
ffeiRad # & @19 TR U9 ¥ §d IR U4 U &7 gdadi § 2
(A)TH TT 3R U7 | (B) 5 TH 3R AR TF T
(C) fawHART dg@d AR T T (D) 3R 3R U9 U
Which of the following RNA is precursor of messenger RNA ?
(A) sn RNA (B) 5 sr RNA

(C) Heterogenous nuclear RNA (D) r RNA

FfeiRad & | B BIRIHT NV &7 9eToT 8l Hd 8 2

(A) T8 T (B) =gifte

(C) dIFITSS| (D) 3R &1 &Y

Which of the following cell does not phagocytose pathogens ?
(A) Macrophages (B) Neutrophils

(C) Monocytes (D) RBC

frforRaa & gfiRel o] & IR # o HUT B 7 ?
(A) feRef 317 # TR diel UeIES Wy ¢ |
(B) wfcreft a1v] # &1 &g wd & <TE SRIAN ¢ |

14



34.

35.

36.

(C) ufao dem Yoret ufcrell o] & < sfa@e 4 7 |

(D) o=t uferen srfohar # gfeRed 3719 a9t 7 |

Which of the following is incorrect statement about antibody ?

(A) Four polypeptide chains are present in antibody molecule.

(B) There are two short and two long chains in antibody molecule.

(C) Antigen binding site is present in heavy chain of antibody molecule.

(D) Antibody molecules are syntehsized in humoral immunity.

fr=forRaa & @ 19 die #1971 Wi © ?

(A) FoifearT SrdamH (B) TR |AHITHRA

(C) a1 #ed (D) TRATSISAH BT

Which of the following plant is the source of morphine ?

(A) Nicotiana tobaccum (B) Papaver somniferum

(C) Datura metel (D) Erythroxylum coca

fF=rfeiaa 5 9 fha R &1 HshMd w9 SiaSl & ?

(A) FreifRar (B) erIthigS

(C) Ts (D) =gt

Sporozoite is the infective stage of which of the following diseases ?
(A) Malaria (B) Typhoid

(C) AIDS (D) Pneumonia

fferRed # & fow geaoldl &1 g Raw 9o’ TR & # 8rar € 2
(A) uferfiferas regm et (B) BiRifFRERaEIRTE IRATS

15



37.

38.

39.

(C) ¥ (D) Sifee st ey

Which of the following micro-organisms is utilized to prepare “Swiss-

Cheese” ?
(A) Penicillium roqueforti (B) Propionibacterium sharmanii
(C) Yeast (D) Lactic acid bacteria

fegiv Yo fbar fob ufaRiiferd U gurasrel yfeifdsd (UEemifes) g ?
(A) cTaoist Tl i (B) 3T =1 Td BIAS FARI

(C) e B (D) U

Who established that penicillin is an effective antibiotic ?

(A) Alexander Fleming

(B) Ernst Chain and Howard Florey

(C) Robert Koch

(D) Pasteur

FefeRad # | &9 Uik (FRIY) &7 sRaiiad ol © 2

(A) BT e (B) SIS e

(C) SufSier wfcwen (D) S1f3repT wIfRae wieRer arfsan
Which of the following rejects graft / transplant ?

(A) Physiological barriers (B) Cellular barriers

(C) Acquired Immunity (D) Cell mediated Immunity
e 66 @ Ay frferRad # & fod saa A 8 ?

(A) TTE, (B) =rae

16



40.

41.

42.

(C) #ah (D) earex
Atlas 66, is related to which of the following crop ?
(A) Wheat (B) Rice

(C) Maize (D) Tomato

TP B T & 31fdd Ahever et 8 4—6 Qfeal &1 A9 241 FIT S

g7
(A) HRRoT (B) 3ic: got—+
(C) afg: worH (D) sfg: Faxor

Mating of more closely related individuals within the same breed for 4-6

generations is called as -
(A) Cross breeding (B) Inbreeding

(C) Outbreeding (D) Out crossing

S U9 U R 5Y YR & a9 B8id 2 ?

(A) FEUTHS AT (B) &1 3maer
(C) &g amaer =& (D) uRad=eie

Which type of charges are present on DNA ?

(A) Negative charge (B) Positive charge
(C) No charge (D) Variable
el T & 7

(A) URIST S @& Tdbg A S UA U & WUS Bl (DIl

(B) ¥ U7 T TSI DI YAFh Bl

17



43.

44.

(C) S TH U BT FAIT HATEH A SISl

(D) S U9 U P SfASHH gHss | SR &=AT

What is elution ?

(A) Extraction of DNA fragment from the agarose gel pieces
(B) Separation of fragments of DNA

(C) Ligating DNA with cloning vector

(D) Staining DNA with ethidium bromide

FrefelRad o 9 foh| ufsham | €1 U9 U &S &1 Siaryy H 9ae aRd § ?

(A) F&H AT &aua (B) SUTRIT

(C) Sir 71+ (D)€ 3 T T o W A

Which of the following processes is utilized to introduce DNA fragment

into bacteria ?

(A) Micro-injection (B) Transformation

(C) Gene gun (D) With the help of T.DNA
SHATY] HIRTRT B ST T U o 8 Fe a9 7q 91 foha Sirar 8 2

(A) STETTT BIRTET DI fGHRIT g | FHIST BIAT

(B) SiraT9] BIfRepT 1 fgdSi Somad | SIS Al
(C) STa19] BIRIeT Td YAARTS ST U T Bl 9 R IGHAT
(D) STaTe] IRt BT a9 Jard =T

What is done to make bacterial cell competent to take up DNA ?

(A) Treating bacterial cell with divalent cation.

18



45.

46.

47.

(B) Treating bacterial cell with divalent anion.
(C) Incubating bacterial cell and recombinant DNA on ice.

(D) Exposing bacterial cell to heat shock.

ST U U & YUGHROT H SR S UF U T fFeqvr 7 9T e § 2

(A) HIHTe (B) dfewaq

(C) W (D) st

What is added for precipitation of purified DNA during isolation of DNA?
(A) Methanol (B) Calcium

(C) Protease (D) Ethanol

pBR 322 # ufcefdd wre- Bam H 1 &2l g dr & ?

(A) TiRATfe gfeRTE S| (B) Ori

(C) Sgrargfdar UfaRiEN Sid (D) rop

Where is the recognition site - Bam H 1 present in pBR322 ?
(A) Ampicillin resistance gene (B) Ori

(C) Tetracycline resistance gene (D) rop

f=ferRaa # & @9 pBR 322 % aRvEry fugd € ?

(A) tet” Si= (B) amp® o=

(C) (A) wd (B) = (D) P17

Which of the following is selectable marker gene in pBR322 ?
(A) tet® gene (B) amp" gene

(C) Both Aand B (D) None

19



48.

49.

50.

fereforRaa & 9 fhaa! smavgear ©f Y 3R & =g s & ?
(A) urgHd (B) ¥1 T T Uil

(O EEIERINEEIR EERIMES (D) FAIFRT Hared
Which of the following is not required for PCR ?
(A) Primers (B) DNA polymerase

(C) Deoxyribonucleotides (D) Cloning vector

HAN & Jhol B B FERFT S arer 9iffre =foliaa § 9 39 8 2
(A) #18 1AC UG HTg 2AB ERT dcdg UicH
(B) #18 1 AB ERT dcdg UIcH

(C) 3ifurs=a & THIAT 37

(D) GIRITTST U1

Which of the following compounds controls the cotton bollworms ?
(A) Proteins encoded by cry™® and cry**®

(B) Protein encoded by cry'"®

(C) Amino acids known as Opines

(D) Recombinant protein

f=feiRed # 9 &9 79 IS uReid! 719 [l @ gy § SuRed ® 7

(A\) 3T TFeUe (A (B) ggfAfer
(QREIEEILIERS] (B) dIeT TeiaeRTg S ]

Which of the following human protein is present in milk of transgenic

cow ‘Rosie’ ?

20



51.

52.

53.

(A) Alpha lactalbumin (B) Humulin

(C) Glycoproteins (D) Beta galactosidase
Mo arge Fefafad 4 4 foad a9g & ?

(A) Rrefim B, (B) freTfie B,

(C) faeifa C (D) faerfer A

Golden rice is rich in which of the following ?

(A) Vitamin B4 (B) Vitamin B,

(C) Vitamin C (D) Vitamin A
fereiferiae & A ie S g dierl &1 o e ® 7

(A) 3oid gfiadi @& UfT 3ffeis AW BT BT fdhT
(B) U@l ufeREN wda &1 faara
(C) @rgy ygril & Uvfore Wk H gfg

(D) HIfI® HHROT Bl AT I

Which of the following is not an advantage of GM crops ?

(A) Development of crops more tolerant to abiotic stresses
(B) Development of pest resistant plants

(C) Increase in nutritional value of food

(D) To make somatic hybridization easy

PreferRa # & fpe Aa T & Rorg aRoldy T Suerer T ¥ ?
(A) DR (B) Rt wrgsii

(B ENIEERN (D) HeiRRar

21



54.

55.

For which of the following human diseases, transgenic model is not

available ?
(A) Cancer (B) Cystic fibrosis
(C) Alzheimer (D) Malaria

f=foRad & 9 fod 5w R 1977 § Udh RIGT HU o Uhd ATHR YT

P foram o ?
(A) 3T 3R 8 (B) Sr
(C) ugHr (D) IRTAT BT SrgaT b

On which of the following varieties an American Company got patent
rights in 1977 ?

(A)IR 8 (B) Jaya

(C) Padma (D) Semi-dwarf variety of Basmati
fFfeiRad & 9 &9 wF oraiRtis AT Sgeid & IR # s 7 ?

(A) 3o @1 3gelr A Td B & A0 g I —3TeT S U U IAIhAT Bl
HITYUT

(B) si@em ATd B & folT $ UF U 3 &I 30 DIy & wAToAS I SISl

At

(C) SgefT A Td B BT 3T T—37eTT AT

(D) 5/l A Td B &I BTggIo d8Hl ¥ SIIgdR AMd $gford 91T 1
Which of the following statement is incorrect about synthesis of

genetically engineered insulin ?

22



56.

57.

58.

(A) Synthesis of separate DNA sequences for chain A and B of insulin
(B) DNA sequences for chain A and B were ligated with plasmid of
E.coli

(C) Separate synthesis of chain A and B

(D) Chain A and Chain B were linked with hydrogen bonds to form
human insulin.

fFrfeiRad & & foa &3 9 w1, 9. WHHRAE & T/ Sl © 7

(A) TriRfRerfaT (B) Sia thenfiras

(C) sRa wifd (D) g Iured

Name of M. S. Swaminathan is associated with which of the following

fields ?
(A) Ecology (B) Biotechnology
(C) Green revolution (D) Milk production

FrfeiRad # 9 @19 WRd & g S (@) H wnfie 781 2 2
(A) ST BicEe TgR a9l a7 (B) yoiuret o=

(C) e (D) o= erdd

Which of the following is not included in main biomes of India ?
(A) Tropical rain forest (B) Deciduous forest

(C) Desert biome (D) Grass lands

ST S 99T &Y ATd WA BT T8+ B Ahd o, S I Had & ?
(A) ggar (B) gard

23



59.

60.

61.

(C) 3rgHaTd (D) Fraaardy

Organisms that can tolerate a variable wide range of temperatures are

called as -
(A) Eurythermal (B) Stenothermal
(C) Cold blooded (D) Warm blooded

frfaRed # 9§ o9 wafe / Seier &1 o7 98 7 7

(A) fefim argara (B) W &l

(C) o1 =) (D) So1l yars

Which of the following is not an attribute of population ?
(A) Sex ratio (B) Population density
(C) Birth rate (D) Energy flow

1920 H MELfoRAT # B9 & W Bl 9 & 918 ARGl IR YeId | Jars! Jar

qr et ?
(A) FARTHA (B) gRAfTIH
(C) STeig™ (D) <t

Which plant was introduced in Australia in 1920 which caused havoc in
millions of hectares of rangeland ?

(A) Prickly pear cactus (B) Parthenium

(C) Water hyacinth (D) Lantana

wWefl sruqeid R fdesi ufurfed fear ?

(A) §% MR (B) Wt
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62.

63.

64.

(C) Pt (D) =ifd=

Who propounded Competitive Exclusion Principle ?
(A) Mac Arthur (B) Gause

(C) Connell (D) Darwin

fafoRad & ¥ B ABYRIRAT BT SSIENT gl § 2

(A) ST TG IR U] (B) ag@d

(C) ®as He (D) 3SR TG &R BT el
Which of the following is not an example of mutualism ?
(A) Cattle egret and cattle

(B) Lichen

(C) Mycorrhiza

(D) Relationship between fig and wasp

fr=forRad & e uefl & 3fs uRoifdar fawdl & ?

(A) TR (B) B

(C) PrIe (D)

In which of the following birds, brood parasitism is observed ?
(A) Sparrow (B) Pigeon

(C) Cuckoo (D) Hen

fFfeiRad # 9 &9 HoF o B 2

(A) U, ATHTEh @l BT Hed dal 4 G o fAfdRor S & ST
A IS & |

25



65.

66.

(B) Suit & Yarg gy 2 |

(C) tRUMT U} &7 HeToT H ¢ |

(D) yEred Jd Sial o ARl &7 rueed Fel |

Which of the following statements is incorrect ?

(A) Autotrophs convert inorganic into organic material with the help of
the radiant energy

(B) Energy flow is circular

(C) Heterotrophs feed on autotrophs

(D) Decomposers, decompose matter of dead organisms.

qRT § 319 BT foha-il foed Ry iy € 2

(A) 50 BSIR | TG (B) 1000 ¥ AT&T

(C) 10 TR | ] (D) 3000 & STET

How many varieties of mangoes are found in India ?

(A) More than 50,000 (B) More than 1,000

(C) More than 10,000 (D) More than 3,000

Mg g W UF & AR YAl WR S UG UIRUl B YOIl DI pol AT
fpet & ?

(A) 15 fAferas & oreT SaTaT (B) 7 faferast

(C) 20—25 fAfera= (D) 3 fHfera=

According to IUCN, how many animal and plant species occur on earth

?
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(A) Slightly more than 1.5 million (B) 7 million
(C) 20-25 million (D) 3 million
67. feoia @ yami &1 Hdy f=fafaad § & feaw 2 2

(A\) FREToT (B) S fafderar &1 oiRds # #gc
(C) Huit wars (D) St fafaere
Tilman’s experiments are related to which of the following ?
(A) Conservation
(B) Significance of species diversity in ecosystem
(C) Energy flow
(D) Bio-diversity
68. YCIoR WHA! T & AU &1 & SR 37 T ?
(A) IaRI efd vd fagsH (B) stfrared
(C) fac=h Siferal &1 JMmehHAvT (D) wEfaewar
What is the main reason for extinction of Steller’'s sea cow ?
(A) Habitat loss and fragmentation (B) Over explotation

(C) Alien species invasion (D) Coextinction

69. SOR® URaxid # fr=feiRad § | 39 a1g &1 o9 8 2 ?

(A) @ifeTH (B) Yaifea
(C) IfsT™ (D) drartTan
Which of the following metals is not utilized in catalytic converters ?

(A) Platinum (B) Palladium
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70.

(C) Rhodium (D) Polonium
f=feIRag & | B9 BUF PreArd /Teh-rRl & TR & aR § I 87

(A) B SATGA 981 @ oy waRT  (B) 31cted Sitdl &l 819 w1g

(C) S arrqel (D) freebTeN & YAWT # &S AT gy
Which of the following statements is incorrect about use of pesticides?
(A) Used for enhancing crop production

(B) Not harmful for non-target organisms

(C) Bio-magnification

(D) Manifold increase in use of pesticides

Yuvs—9q / Section-B

oY I8 U39 / Short Answer Type Questions

U WRAT 1 ¥ 20 oY SR & | fh8l 10 UeAl & IR < | U UeH & oIy 2 3ih

iR 21 10x2=20

Question Nos. 1 to 20 are Short Answer Type. Answer any 10 questions.

Each question carries 2 marks. 10x2=20

PTIp UaelT BT T Hegd § ? 2

What is the significance of vegetative propagation ?

YOI RIT & ? 3HD DII—DI UBR & ? 2
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10.

1.

What is Endosperm ? What are its types ?
TRl HIRIBIRIN Td ST HIRGRN &7 M, |7 8 7 2

What are the roles of Sertoli cells and Leydig cells ?

g F S (IUDs) T4 &R Bl A Idhd T ? 2

How IUDs (Intrauterine Contraceptive Devices) prevent pregnancy

?.

HEYHIIAT T § ? IQERYT &I Weral A Gied Jedr & | 2
What is Codominance ? Explain with the help of example, briefly.
T & oA fgid & g ? 2
What is Chromosomal theory of inheritance ?

DI IR Higra fewofl fore | 2
Write a brief note on Haemophilia.

oA & GIEAT B ARAT N | 2

Explain the structure of Nucleosome.

HIMYH Y9TT T & 2 2

What is founder effect ?

TSTAISTH BT FhHUThNI UTdReI], $HD ddck Ud ol Yad DIIhIsh &

e @ 918 Sl fqura et Meedr & Ser am ford | 2

Write down the name of infective form of Plasmodium and name of

its vector and the toxic substance released after rupture of RBCs.

Aerefeq 71 © ? 2
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What is Metastasis ?

i qd qoleraddr B ARG & | 2
Define explants and totipotency.

FHaead IR Aferd femof fored | 2
Write a brief note on Mycorrhiza.

URIE QUSSR P aTias e i e § P R Y| 2
Why is restriction endonuclease called as ‘molecular scissors’ ?
Explain.

S-uH ®aell (GM-crops) & &1 & & ? 2
What are advantages of GM-crops (Genetically Modified Crops)?

HUNT dictdrd ®l FRIf3d == aret S Ug Ui &7 919 ®’IT 8 ? 2

What is the name of genes and proteins which control cotton

17.

18.

19.

20.

ballworm ?

SR (SUS) Ud Id a1 (@TgaR-eH) &I uRqIiid & |

Define diapause and hibernation.
e W wfer fewoh ford |

Write a brief note on decomposition.
e (Tusfisd) gorfa @« € ?
What is an endemic species ?

UlollecVs RIT 2 7 o9 fhad Ay fear ?

What is Polyblend ? Who developed it ?
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" 3a9F 937 (Long Answer Type Questions)

Ued T 21 W 26 AP A SR U 2| {3 Ul & SR | U-d U b
forg 5 3fep MEIRT €| SR AHTA 120 el | &1 A1y | 3x5=15
Question Nos. 21 to 26 are Long Answer Type Questions. Answer any three
questions. Each question carries 5 marks. Give your answer in about 120
words. 3x5=15
21.  WFIETSd y9Td Bl gRHIT &Y | Fieersd 4l & AW ford vd yHveed
SHIA IR Afera fewofl ford | 5
Define Greenhouse effect. Name Greenhouse gases and write a

brief note on Global Warming.
22.  fyHfoRed vl @ STR < 2 x2V2 =5
(A) S yarg 1 7 ?
(B) Ori qr & ?
Answer the following questions :
(A) What is energy flow ?
(B) What is Ori ?
23,  dfera fewoft fore — 2 X2V2 =5
(A) JqeR & ®T H NS
(B) URSIHT TTRI—ISi!
Write a brief notes on —

(A) Plasmid as vector
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24.

25.

26.

(B) Transgenic Cow - Rosie

IR b YfARE a5 BT 9uiF B |

Describe Immune System of Body.

TR AfSl FIT & ? ol 3URTT BT goi BN |

What is Operon model ? Describe Lac Operon.

fFrfoRad w wfera fewoft ford —

(A) Seaaer (TafTarde i)

(B) oTgddlsil Uil H TR grHBIGME BT [adHra
Write a brief notes on the following

(A) Amniocentesis

(2x2% =5)

(B) Development of male gametophyte in angiospermic plants.
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